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Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any ten of the following questions
as directed: 1x10=10

F=ipiR oot fiat ericares =/ e 72t 2
Teq forat ¢

(i) Central excise duty is levied and
collected by

(Fill in the blank with
appropriate word/words)

SR A SEII | A1 41 19 Hgam
WA (CoR@ %1773 <7 312 979 7=)

Contd.




(1)

(iii)

(iv)

(v)

(vi)

The Assam VAT Act, 2003 came into
effect from 1% day of May, 2005.

(State whether the statement is true or false)
SPT VAT i3, 2003 SR 941 2, 2005

b3 #Hfzait (3 @R = |
(Cfeeh o @ gom B 79)

One O_f the objectives of the Customs Act,
1962 is to protect the domestic industries.
(State whether the statement is true or false)

RIGIEEH TF 39 |
(Cf&th w5 @ wog Gd 79)
ST has removed the ____effect of taxes.
(Fill in the blank with

appropriate word/ words)
GST-9 3= ASR Sl FECZ!

(CoRye =g <ife7 312 97 )

thout GST registration can

A person wj
collect tax.

(State Whether the statement is true or fi alse)
GST-2 8T =iy 12t e ey o <012
AR (et v 7 oy Bl 7

Indir,
5 .taXeS are imposed on ____—
and serviceg.

(Fill in the blank w;f’;

appropriate word/ woras.

ol ety gvis 4y 1 &
(e w9770 7 312 779 9

(vii) Customs duty is levied on the
manufacture of excisable goods in India.
(State whether the statement is true or false)
SO SR FICI9 TEI GLAMTT GoS
T 39 41 U 2 |

(ol o7 (o sies S )

(viii) ___ area means the area of a custom
station.

(Fill in the blank with
appropriate word/words)

e o (R b R (B ST |
(T3 =73 AN 912 779 =)
(ix) GST was introduced in India with effect
from .
(Fill in the blank with appropriate word/
words)
SRITEEI T 91 GST 2% 341 23 |
(CofFe =723 AT 3F 779 7)

(x) GSTIN is a unique 10-digit number.
(State whether the statement is true or false)
GSTIN Zs7 bl 72 MRS S 74 |

(Cleeh &% o orm Grayel 31)

(xi) Customs duty is levied by the
Government of India.

(State whether the statement is true or false)
I YT OIS HIFIT 71 4G ) 27 |
(Cfechl o5 & wom By w)

(xi) France was the first country to
implement GST in the year __ |
(Fillin the blank with the appropriate year)
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IR YL 7l R 5% 22T GST
BN T |
(©s13 3y A 312 779 71)

(xit)) The name of the first Chairperson of the
GST Council was

(Fill in the blank with

appropriate word/words)

ST <R el23Ter Tetoifio s e |
(©o13 oz <y 312 79 79)

(xiv) GST -network is a non-government
organization.

(State whether the Statement is true or false)

GST network <5t <529} Ao = |

P (Cfes! v 7 g Bre o)
has been Projected as ‘One Nation,
One Tax’,

(State whether th,
e statement is t alse
GST-3 ‘g rue or false)

A, 9 7, e
A p 2 4l
s g f2pitel e

OF ( on Gz F9)
of the following questions :

oS 2 . 2x5= 10
sl AR Rzt s eps e 7l ¢
() What is inpyt

tax credit
Input tax credit 5 =35

Answer any five

4

3.

(ii) Explain the meaning of ‘aggregate
turnover’ under GST laws.
GST wIizd Sf e TS [T -3 S it i |
(iii) What is dual GST model ?
t@e GST =i 2

(iv) What is the meaning of ‘territorial
waters’ under Customs Law ?
5w @i3E SIS gAETE AT ud [ = e

(v) Expiain the term ‘manufacturer’ under
Central Excise Act.
N RIS TS TLATE XA
AT <R

(vi) What is ‘countervailing duty’ under the
Customs Act ?
ey wizag Tfe woE o T =?

(vii) Whi;.t is the meaning of indirect tax ?

Sl T 9 [ =2
(viti) Mention any two salient features of GST

network ?
GST network-3 Rz 75! &4 (SR
91|
Answer any four questions : 5x4=20
Rizeizen sifabr esia T o7l 3

(i) Explain the meaning of ‘baggage’ under
Customs Law.

/B OizE SIS ‘baggage™ WY i 7 |
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(%)

(iii)

(iv)

(v)

(vi)

(vid)

Briefly explain any five advantages of
registration under GST laws.

GST W< SIqe Gz 97 R 5o
ARl T P 4 |

Briefly explain any five salient features
of GST.

GST-J RIcPIcal #1501 240w T8y Fereest gt
91|

Explain the procedure of registration
under the Central Excise Act.

(P SR SN2 SIS /e w117 sim s
G 4 |

State any five objectives of enactment
of the Customs Act, 1962.

I W12, 1962 @i T4 R Aoy
Sol

Briefly explain any five features of
indirect taxes.

A S5 Ricpia Aisor (afRy st i < |
Write a short note on the GST Council
and its constitution.

GST IS 1% 371 5157 @519 53] GBIt el |

(viit) Write a brief note on the threshold limits

for registration under GST.
GST-3 SIS #{ferms A eiifes T @i
53 (BIpt foralt |
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4. Answer any four of the following questions:

10x4=40
weTe Rl ePTaIS #[1 Richieanl ifa5I Ted foal ¢
(a) Explain the eligibility and conditions for
availing input tax credit under GST.
5+5=10
GST-% W@ input tax credit- R«
ToATels TR AE 97O S TOITR I |
(b) Write a comprehensive note on the
persons who are not liable for
registration under the Goods and Service
Tax Act.
7 775 A& @ % O T RN ST Afga
I A AT L (ST S T2 (BIt o1 |
(c) Describe the history of indirect taxes in India.
SROR® S T 2o I 71 |
(d) Write a note on the concepts and general
principles of Value Added Tax.
o7 RIS T 4R W AR O
GO (Bl ferl |
(e) Briefly describe the history of Central
Excise Law in India.

CReAS (U SIS 30T HLE I = |
(/) Write brief notes on the following terms
under Central Excise Act : 5+5=10
T SR ST TS $eTS [l *=AE

e 53 (o1 forat 8

(a) Manufacture

e
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(b) Place of removal
DA ZI

(g) Explain the provisions of the Customs

Act, 1962 regarding grant of exemptions
from custom duty.

PITI WAZ, 19629 WFTO T wFF o1
SIS 2fnid I R 51t w5 |

(h) Briefly explain the following terms under
the Customs Act, 1962 : 5+5=10

FTI T2, 19627 THT® weTe Wl W@
BT I Fl 2
(a) Safeguard Duty
ECINES
(b) Anti-Dumping Duty
afF-TIf™ig &
(i)  Briefly describe the history of Goods and
Services Tax in India.

TN IL WS (Tl 799 2oz B(F ety
41|

(i) Explain the meaning of composition
scheme under GST. What are the

conditions for opting composition
scheme ? 5+5=10

GST= UHIS TR @rem’g el LR
3 | MLANFI @SR S & T
veEe 5 F e
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